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Directions (11-15):aﬁmwwm¢mmaﬁm
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$e19C: 56 set 90 colour 43 pink 65 ago toy 17 94 near
YIOTI: 19 56 set 90 colour 43 pink 65 toy 94 near ago
YIOTII: colour 19 56 set 90 pink 65 toy 94 near ago 45
YIOTIII: 54 colour 19 set 90 pink 65 toy 94 ago 45 near
TIOTIV: pink 54 colour 19 set 90 toy 94 ago 45 near 67
TYIOTV: 88 pink 54 colour 19 toy 94 ago 45 near 67 set
YIOT VI: toy 88 pink 54 colour 19 ago 45 near 67 set 92
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$eT9C: 50 hot 84 begin 37 economy 59 again new 11 88 cool
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(a) 13

(b) hot

(c) 84

(d) new

(e) 88
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Q13. 3UYFd SHAEAT I T Filel & AT bl =TOM HT HTaeTeheTl &2
(@3

(b) 4

(c)6

(d) 7

(e)5
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Q14. €T & §1g AFAfAf@d & @ =le @1 =]or 111 g e
(a) 48 begin 13 hot 84 economy 59 new 88 again 39 cool
(b) 48 begin 13 hot 80 economy 57 new 86 again 37 cool
(c) 48 begin 15 hot 82 economy 57 new 86 again 37 cool
(d) 48 begin 13 hot 82 economy 57 new 86 again 37 cool



(e) 3oTH | HIS Aer
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Q15. TOT VI &, ‘82, ‘new’ ¥ FafAT & 3R “13’, ‘begin’ ¥ F&flT &1 3 FHA YHR
¥ ‘61’ fFed wafda g2

(a) cool

(b) new

(c) economy

(d) hot

(€) 37 | IS Tl
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Solutions
S1. Ans. (d)
Box Cuisines
A Maharashtrian
F Gujarati
C Kashmiri
G Konkani
E Mughlai
B Parsi
Sol. D Bengali
S2. Ans. (e)
Box Cuisines
A Maharashtrian
F Gujarati
C Kashmiri
G Konkani
E Mughlai
B Parsi
Sol. D Bengali

S3. Ans. (b)



Box Cuisines
A Maharashtrian
F Gujarati
C Kashmiri
G Konkani
E Mughlai
B Parsi

Sol. D Bengali

S4. Ans. (e)
Box Cuisines
A Maharashtrian
F Gujarati
C Kashmiri
G Konkani
E Mughlai
B Parsi

Sol. D Bengali

S5. Ans. (b)
Box Cuisines
A Maharashtrian
F Gujarati
C Kashmiri
G Konkani
E Mughlai
B Parsi

Sol. D Bengali

S6. Ans.(d)

S7. Ans.(c)

S8. Ans.(b)

S9. Ans.(e)

S10. Ans.(a)

S11. Ans. (d)

Sol. Students let us understand the Logic behind this Question and let’s understand how to
solve it. When we see in each step, then we can find that there are both number and words
are arranged in each step.

(1) For words arrangement- Words are arranged according to ascending order given in
English alphabetical order. In first step the words which comes first according to English
dictionary arranged first to extreme right. And in second step next word are arranged to
extreme left.

And this process is continued in further step.



(2) For number arrangement- Number are arranged according to ascending order. In first
step lowest number is arranged on extreme left. And in second step next number is
arranged on extreme right. And this process is continued in further step (Each odd number
is added by two (+2) while they are arranged and two is subtracted from each even
number(-2) while they are arranged).

Input: 50 hot 84 begin 37 economy 59 again new 11 88 cool
Step I: 13 50 hot 84 begin 37 economy 59 new 88 cool again
Step II: begin 13 50 hot 84 economy 59 new 88 cool again 39
Step III: 48 begin 13 hot 84 economy 59 new 88 again 39 cool
Step IV: economy 48 begin 13 hot 84 new 88 again 39 cool 61
Step V: 82 economy 48 begin 13 new 88 again 39 cool 61 hot
Step VI: new 82 economy 48 begin 13 again 39 cool 61 hot 86

S12. Ans. (a)

Sol. Students let us understand the Logic behind this Question and let’s understand how to
solve it. When we see in each step, then we can find that there are both number and words
are arranged in each step.

(1) For words arrangement- Words are arranged according to ascending order given in
English alphabetical order. In first step the words which comes first according to English
dictionary arranged first to extreme right. And in second step next word are arranged to
extreme left.

And this process is continued in further step.

(2) For number arrangement- Number are arranged according to ascending order. In first
step lowest number is arranged on extreme left. And in second step next number is
arranged on extreme right. And this process is continued in further step (Each odd number
is added by two (+2) while they are arranged and two is subtracted from each even number
(-2) while they are arranged).

Input: 50 hot 84 begin 37 economy 59 again new 11 88 cool
Step I: 13 50 hot 84 begin 37 economy 59 new 88 cool again
Step II: begin 13 50 hot 84 economy 59 new 88 cool again 39
Step III: 48 begin 13 hot 84 economy 59 new 88 again 39 cool
Step IV: economy 48 begin 13 hot 84 new 88 again 39 cool 61
Step V: 82 economy 48 begin 13 new 88 again 39 cool 61 hot
Step VI: new 82 economy 48 begin 13 again 39 cool 61 hot 86

S13. Ans.(c)

Sol. Students let us understand the Logic behind this Question and let’s understand how to
solve it. When we see in each step, then we can find that there are both number and words
are arranged in each step.

(1) For words arrangement- Words are arranged according to ascending order given in
English alphabetical order. In first step the words which comes first according to English



dictionary arranged first to extreme right. And in second step next word are arranged to
extreme left.

And this process is continued in further step.

(2) For number arrangement- Number are arranged according to ascending order. In first
step lowest number is arranged on extreme left. And in second step next number is
arranged on extreme right. And this process is continued in further step (Each odd number
is added by two (+2) while they are arranged and two is subtracted from each even number
(-2) while they are arranged).

Input: 50 hot 84 begin 37 economy 59 again new 11 88 cool
Step I: 13 50 hot 84 begin 37 economy 59 new 88 cool again
Step II: begin 13 50 hot 84 economy 59 new 88 cool again 39
Step III: 48 begin 13 hot 84 economy 59 new 88 again 39 cool
Step IV: economy 48 begin 13 hot 84 new 88 again 39 cool 61
Step V: 82 economy 48 begin 13 new 88 again 39 cool 61 hot
Step VI: new 82 economy 48 begin 13 again 39 cool 61 hot 86

S14. Ans.(a)

Sol. Students let us understand the Logic behind this Question and let’s understand how to
solve it. When we see in each step, then we can find that there are both number and words
are arranged in each step.

(1) For words arrangement- Words are arranged according to ascending order given in
English alphabetical order. In first step the words which comes first according to English
dictionary arranged first to extreme right. And in second step next word are arranged to
extreme left.

And this process is continued in further step.

(2) For number arrangement- Number are arranged according to ascending order. In first
step lowest number is arranged on extreme left. And in second step next number is
arranged on extreme right. And this process is continued in further step (Each odd number
is added by two (+2) while they are arranged and two is subtracted from each even number
(-2) while they are arranged).

Input: 50 hot 84 begin 37 economy 59 again new 11 88 cool
Step I: 13 50 hot 84 begin 37 economy 59 new 88 cool again
Step II: begin 13 50 hot 84 economy 59 new 88 cool again 39
Step III: 48 begin 13 hot 84 economy 59 new 88 again 39 cool
Step IV: economy 48 begin 13 hot 84 new 88 again 39 cool 61
Step V: 82 economy 48 begin 13 new 88 again 39 cool 61 hot
Step VI: new 82 economy 48 begin 13 again 39 cool 61 hot 86

S15. Ans. (a)

Sol. Students let us understand the Logic behind this Question and let’s understand how to
solve it. When we see in each step, then we can find that there are both number and words
are arranged in each step.



(1) For words arrangement- Words are arranged according to ascending order given in
English alphabetical order. In first step the words which comes first according to English
dictionary arranged first to extreme right. And in second step next word are arranged to
extreme left.

And this process is continued in further step.

(2) For number arrangement- Number are arranged according to ascending order. In first
step lowest number is arranged on extreme left. And in second step next number is
arranged on extreme right. And this process is continued in further step (Each odd number
is added by two (+2) while they are arranged and two is subtracted from each even number
(-2) while they are arranged).

Input: 50 hot 84 begin 37 economy 59 again new 11 88 cool
Step I: 13 50 hot 84 begin 37 economy 59 new 88 cool again
Step II: begin 13 50 hot 84 economy 59 new 88 cool again 39
Step III: 48 begin 13 hot 84 economy 59 new 88 again 39 cool
Step IV: economy 48 begin 13 hot 84 new 88 again 39 cool 61
Step V: 82 economy 48 begin 13 new 88 again 39 cool 61 hot
Step VI: new 82 economy 48 begin 13 again 39 cool 61 hot 86



